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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 2 hours Maximum Marks : &0

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamer@ M euans aflermdsmer

Read the following instructions cafefully before beginning to answer the questions.
MensaEnsg el waflss Qasrki@Gh (pary SEsaa. . DMle|enrEmer SaUaIDTE Lig &6 |LD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Bbs sifanssadie e urdarflar aurismssatc), @pa&GsanL (oajsmsuuqu_GnT @ Lietr
umedleflen eunTHenSH@EHLD <L EI@L.

' This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

@ns elamsdsrElifame sansraflliurerilen  oand CQuUpAsHE T SDESFLTF.
setmrament| i Limert aflenms s @ e :@muugyp@ Siaod) Q;Gﬂgﬁr,ml_m aflents@sm@glaer SpmHal
eflenL_iaflés @ _migemib.

1.  This question booklet contains 80 number of objective type questions. Prior to attempting to

answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Inv:gllator 1mmed1ately within first
10 _minutes after which no request will be entertained.
Gacdansgrer 80 Qardghl wms Aamsamer Qararig. edameriugmyisdr el welss
Qs rugd aper, elamgsralla erder elemésend GLib Qupmerearareur aaumsub, gEsgb &o
ussnsda / elemssar FAL_LLLTLG AUl erarareun eraiUms|d slUTTESE Cameremeab.
aemssrailey gGseyd Gon @@Lidear eleamssraer’s Wupp Ger LSH HIELRSERSEGTT S
sasrsramuurariiLn Qsfleliss Cauar(n. snE 19nE desfelssliu@w Carmémasdr ggib ghns
QamerariiLi_LomlLmg).

2. Answers all questions. All questions carry equal marks.
Simansg edamasEns@h ol weflsés Cudmhn. imads elamésEpn Fowmen WEl6lLemmse
Qamemr_emeu.
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3.

Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

ellamramriLigmyilesr LifQeameanenr @)eialanmsgme e Ghﬁéjlm&}g] LGasED 2isnlaar @gdslul Hdren
QL g8l erps Cauam@ib. elenmssraiier Coup erangu|ib er(Lpss sal 5.

The sheet before the last page of the question booklet shall be used for any rough work.
efamggrafer senlLd LESSSHDE e LsssH® rough work erpd Lniés o LGLTAEEE GsTerarayb.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(c)‘ If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(@) gaGarm elamadpegnd (A), (B), (C), (D) aar preng eleorsdr Carhésiul (erarg).
aflarenr gyt sieuphled gCsgund g eflurar damLmws Caia) Baiw Cauam(ibn. RDISE

G L eflwunar eflenlsdr g edamelne muLsTs srdamd, Supled edelmL Bas
sflwunens eren smadHiaGar, euaien_amw Hlipel G sri Ceuam@Hib.

(b)  ereusumdl@rUband, ¢ ellanTellh@ Cr ¢ eflenLenuid gren Gg,r’r;ﬁ@g,@éaa; Geuesr(Bb.

©) em NamalnE gamsE GupulL el msels o welssiiulymbsrd Seueiam
SUDTaSIs &MHSILLD, Sjeueflarmedine wdiGue auphslULTLLTE.

(d OMR alers grafler @Pdsiul eflurer elmismear QuImss, Qorss WEHLGLETEET
aupralLED (@@ famalnE e i LsHd (GAUAL) el eflent o GG wgli6lLe
QULPIEIG san&dled 6T(HdHIH CameTeTiLI(BIb).

Do not mark the answers in the Question Booklet.
slamsgrefics eflenLsamend @GOG L& &L 8.

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

alemrenriugnyi, efamgsrafien ahs @m LsssmsLb, Hiatar sdag HBssteur smrg. Goiey
EerLQugd Curg, elemmssrame Caiia) sl smaelll H QeuelGu rBig Qsde igyd HaLwirg.
Gairey i GenarGy ellanmégnener ar(Bdsié Gada iawdlésiL@ea.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide. :

Gupsem. ofle@mrsald gGseyn Bpluu@Cowrame GCsiaummeamud a@&@D seam ear /
BLaugEamadE 2 drerrs Coifl (L. :

In case of doubt, English version is the final.
aflarrésailcr shCss0mLIder, piidlo ey el Qar@sasiiuBerer elamssGar @@;@um&m@
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What is the density of Mercury?

(A) 13 Mg/m?® : (B) 1360 kg/m?-
@ 136.0kg/ms (D) 13 kg/m3
Quirgfuller oi_rdd eremen?
(A) 13 Mg/m? . B) 1360 kg/m?

(C) 136.0 kg/m? - : (D) 13 kg/m3

Unit of work done is

(A)  Watt v Joules

(C) Newton (D) None of the above
Geuaneauudlesr e, eTenmen? | _

(A)  eauml ' (B) g%

(O Hulien D)  @eundled ergiadeena

The Value of atmospheric pressure is

(A) 10 Bar (B) 100 Bar
O 1013Bar , (D) 110 Bar
cuafloaTL_addler S|(L&sID eTee? '

(A) 10 unr (B) 100 um

(©) 1.013 unrr . (D) 110 umr

"What is the unit of thermal conductivity in SI system?

D Wimk) (B) m/(w.k)
(C) k/w/m | (D) k/miw
<ierey pepudld GauliusL Semead GHlaED eTei( erene?
(A W/(mk) ' (B) m/(w.k)

“(C) kiw/m (D) kim/w

Which one of the following fuel is in the gaseous state?

(A)  Wood (B) Paint
(C)  Plastic \/fﬁ, "~ Butane
Qe peuaauhmaT 61be i@ Lmmer eumuHlaneouded 2 drarg)?
(A) g (B) Quuiem.
(€)  Yemmevig s - (D) Qg Greor
3 : 029/DM/19

[Turn over



6. What is the stoichiometric mixture of Methane?

A) 1.9 B 89
) 9.5 X (D) 10.1

B&Csaflan gmuflCunCul M Bser wmg)? ‘

(A) 19 B) 8.9

€ 9.5 (D) 10.1

-]

Which one of the following substance has higher vapour density to air?

(A) Propane 4 (B) Methane
(©) "N-Butane VD) N-Heptane
Mlerreu(mid Aurgpl safled erg) srhanmedl idls el oL QareamLg?
A  yruGuan (B) 155Cse
(©)  N. Ot Guei (D) N. GapuCGren
8. Which one of the gas is used in fire extinguisher as an expelling agent?
(A) CO \’@) N2
(C)y CHa - (D) COq
Swenarriumensaflar Qeuafl o hg) eurujeunrs LWETLESSLILHLD eury 67g?
(A) €O (B) N
©  CHi D) COs
9. Which one.of the following material is not come under the Class A fire?
(A) Wood (B) Paper
O Plastic | (D) (A), (B) and (C)
@@m@mm@mg}m arg Class A Fire 9Me9é euyms?
(A) b (B) arégd
©)  Garmevigd (D) (A), (B) wpgid (C)
10. Why water is used as a prime extinguishing agent?
(A)  High specific heat (B) High laterit heat of vaporisation
(C)  Easily available v (A), (B) and (C)
- gerpr rgrer Suenaniiy Aunmearts LweTURSSILIGS D ?
(A) @fs ganeuliu gpusdmen ] B) @fs yelwurgeen Ceuliuflana

(C)  weallsradlen_LiLigme D) A, (B) wpmwb (C)

029/DM/19 4
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12.

13.

14.

What is the Density of Water?
@ 10 | A
) 100 (D)

Bifletr o1& ereves?

A) 10 ' @B .

(C) 100 (D)

How to find out efficiency of pump?
(A)  WP/BP x 100 g4 (B)

(C)  100/BP x WP - - o)

ubiSetr Slmenr erevieummy setorBluiiv (Héme?

(A)  WP/BP x 100 (B)

(C) 100/BP x WP (D)

W_hat is the theoretical suction lift?

@ 9m 24
© 8m )
HuQT s Qesse eIt ereman? |
@ 9m B)
©. 8m D)

Why the regenerative pumps are used?

v  Tocreate more pressure . (B
(C) Both (A) and (B) - D)
e fAmaGr iy 6 e e Bss0LGEDE?

@A) sifls Wsssms o (HeuTEs B)
©) (A wpmd (B) (D)
]

1000

1000

BP/WP % 100
WP x 100_Percent
BP

BP/WP x 100
WP x 100 Percent
BP

10 m

Tm

10 m

Tm

To create more output

_None of the above

2dla QeuaflCuhm Smenear 2 (meurés

@eumbley ergiaybleanay

029/DM/19
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15. What is the Normal Output of Portable pumps?

(A) 4000 LPM (B) 3000 LPM
(C) 2000 LPM D) 1130 LPM ®
arafldled gddl & @Eﬁbgmﬁa ubysefen syrefl BT QeueflCupmit dper ereueusmeu?

(A) 4000 LPM (B) 3000 LPM

(C) 2000LPM (D) 1130 LPM

16.  When the cracking jets are created?
(A)  Oil entered into water
(B) TFoam entered into water
,.,\'0 air taken into the pump with water
© @ and©
UQum(pg Slrrédn Qml o meurdlmg)?
(A)  seiailes eraimGlamni sadEh CUTE .
B) seawatfld perr sdEn Curg
(C) sawafile srn sobg Lb ey er dewgin Gurg
™ (@A) wpgd ©)

17, Normal Length of Suction Hose?

AN 15 feet (B) 45 feet

(C) 55 feet (D) 65 feet
2 Bless @pmullen Herb ereten?

A) 15 sy : (B) 45 oig
©). 55 i (D) 65 g

18. If a fire fighter suddenly close the nozzle water will happen?

(A)  Water stop ) Water Hammer

© Water Jet ' , (D) Water flow

Swenanrég b Gung Bred Qgwruie Qegib sameatiay S 6rer prélede ﬁggsﬁeﬁnsb erenren Hlaph?
A) B ﬁﬁ)@)&’ - - (B) amliiGapwof

(€) el QgL D) el ouGar

029/DM/19 6



19,

20.

¢

22,

Venturi principle is useful for

(A)  Output ) Induction
LQJ) Jet - (D) All the above
Qeugpai Wflandlibed eriig Lweu H&s0LESDS? ‘
(A)  QeuaflCunpiiLi@Geugdle B) @ar_geven
(C) Qsg (D) Copaadu oienergsid

Which one of the following not correct about Centrifugal pump?
(A) Low pressure-High output
(B) High pressure-Low output

./(C) Self Priming

D) (A) and (B)

Getreumeuemeaupilar Qaar Mdyed ubau updl g SeupTes?
@A) GoODHS Si(PsSHD-3Hs QeuallGuppid fmen Qsrair_g)
B) <sids qssb-Gophs QeellGupmid

(C)  snenma Genyulli Qeliuyb Sper Glenem g

D) . (A) wpyid (B)

If a temperature remains below freezing point, which of the following sprinkler system will
be used? '

(A)  Wet fire sprinkler system ﬂ Dry fire sprinkler system

(C)  Down fire sprinkler system D) (A and-(B)

QeutiLioneng 2 epHlowss @opaurs daerGurg Spsamn. ebs sraflumd B Ggafliumer
LwamuRdEms? : _ _

A)  wy graflwnid Glg,@ﬂi;lurr'e’m' (B)_ o it graflwd Gaefllimer

©  Loyer srefluisd Qaefiumen D) (A) wpmd (B)

Which of the following is not a main type of drenchers?
) False ceiling drenchers (B) Roof drenchers
(C) ~ Wall or Curtain drenchers (D) Window drenchers
SpseiT._euhHmer 678 1 @anaTen cuanssafld) GaaTEs!?
(A) u".,urrsbﬁeﬁl.rﬁd - Qyeraan (B)  @mosls g Glyeinaeny

(C)  eumev (Siebevgy) &M GL_am g Gyereran (D) efawrGLr g Eyasaia

7 029/DM/19
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23. Types of rising main is

Jﬂ 2 B) 5
.

©) 10 (D)
Wp&Aw 2 wirsHseflen cumaser erégsamen? Y
A) 2 , O ® b
© 10 D) 1

24. Producing hot gases fire releases radiant energy in the form of
(A)  Visible light (B) " Infra-red radiation
(C)  Ultra-Violet radiation D) (A), (B) and (C)
Qeutiurarpm § Qeuaflud G Grigwie” eranieuden cuans?
(A)  sravssmipw gafl (B)  @sdeuliy sdi eligs
(©  ypesgr aflieiés | D) (@), B) wipd (C)

25. Fusible alloys is used in which detector

ﬂ Heat detector (B) Radiation detector
(C)  Smoke detector (D) Ionization detector
2 (HELD el EPaa aThs 4 QL& Taafled LwearuBEsiuHEHne?
A) Qe g QL (B) sfieSis QLG
C)  yows Qs (D) gCuramenGsage 4 QL &LiT

26.  Percentage of Oxygen in atmosphere is?
(A) 78.09 % B) 0.05%
OV 2095 % D) 50 %
euaflnair_asHd oysailneallan sseish erermen?
(A)  78.09% @) 0.05%
(8)) '20.95 % (D) H0%

27.  Respiratory rate for adult is
ﬂ 15 to 18 times per minute ‘ (B) 12 to 18 times per second
(C) 72 times per minute f (D) 72 times per second
srgnens waflgeafen seursd aQ@g,Lb GTesTan ? .
A) Bl sfne 15 apsed 18 wep (B) efenmgdg 12 apged 18 wpanm
€ PHbLsdie 72 apen D)  eNenmgéeE 72 apern

029/DM/19 g



28. Safety Margin time for Breathing Apparafus
- (A) 50 minutes (B) 40 minutes
%) 30 minutes ./fﬁ')\ 10 minutes
ap&as smedluller ungismiy eflefiiby Griy erenen?
(A) °© 50 AlfiLib B) 40MlLibd
(©) 30 Al D) 10HSwd.

29, DSU stand for

(A)  Digital Signal Uﬁit _ ,/® Distress Signal Unit
(C)  Digital Standard Unit (D) Distress Standard Unit
DSU eremugen el fleurgaid
(A)  Digital Signal Unit (B) Distress Signal Unit
(C)  Digital Standard Unit (D) Distress Standard Unit
30.  What position is requirec}l for unconscious person to keep their airway clear and open?
(A) Record.position | q/fﬁ) ‘Recavery iaos_ition
(C)  Un Record position (D) Un Recovery position

mwésa;msmt_ﬁg, BuTaatler SThHm m@mmlaml_uﬁ]éusurrmab EoHseuT euss SDsTL TS Blanaulle

31.

G(mas Ceusr(HD?
A)  udle Blae B) BSly flenew
(C)  udefever Hlenaw (D)  Barrg Blevay

Which one of the following is non toxic gas?

(A)

)

Carbon dioxide

Oxygen

(B) Ammonia

(D) Sulphur dioxide

ELpaaT_eUHMIET 6rg) HEGSSEELD 2 el QT @ane?

@)
- ©

STTLIET 6Dl Dp&ben&(h

< Setlgen

(B) = CGureiwr

(D)  souT e S &ma(

029/DM/19
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o Heat is transmitted in the ways

(A) - Conduction ; (B) Convection _ ;
(C)  Radiation . SO (A), B) and (0) ®
GeuliLih uFeeug) eThs euenguile ?

A) GQaulu sLs® (B) QeuliuF sevenbd

(C) Qeulu sflr eliés D) @A), B) wpyw (C)

33.  Atom is made up of

(A)  Protons and Elect.rons (B) Electrons and Neutrons

(C)  Neutrons and Protons ‘/{ﬁ’ Protons, Electrons and Neutrons
Slemieile @mLug)

(A) I LGy _me OHMILD GTEVE&LIFIT & (B) ereai_pmen mHmyd ’(E)I%LL'_[J'II'I'@T

(C)  Huwgrer wHmid LGrm e (D)  yGym’irmen, erevdLiymes LoHMILD Bl medr

34.  Which height is not permitted Group J Hazardous Occupancy?

(A)  Above 10 meters _ .Km Above 15 meters
(C)  Above 20 metérs ' (D) Above 25 meters
Group J Hazardous @igyndlésin L o wiyb ereren?

(A) 10 80 (psE G (B) 168 L w5 G
(C) 20 B8lu(péE Cued - (D) 25 Bl (méE Cuod

35. ' Marriage Hall comes under which occupancy?
| (A)  Group A-Residential Building

(B) Group B — Educational Building
(C)  Group C-Institutional Building

\KD) Group D — Assembly Building
S(mioem e 6Th SpEIOILIL s o dhlen S aumdma)?
(A)  Group A-Residential Building
(B) Group B — Educational Building
(C)  Group C-Insti£utional Building
(D)  Group D — Assembly Building

029/DM/19 10



36.  What should be the staircase width for Hospital Building?

(A) 1 meter (B) 1.5 meter

A 2.0meter ‘(D) 2.5 meter
W(FHGIeUOan SLlgLSHler g liLiguier sl ereualene) 8)mes Geuetr(HiLd?
(A 180 : B) 1.5driw
(C) 208 (D) 2.5

37. Which of the following valve is used to flow water through them is only one direction

(A)  Return Value : A Non Return Value
(C)  Retired Value (D) Non Retired Value
SipaeiT_auDMIET 6Tbg EUTE6Y gatanteniy Fans@er b aufluded il HGWL Gedomeud@h?
(A) Al em eumdvey (B)  mman fliL_eim eurcvey
(C)  Mewi_wir® eumevey - D)  pran fleowiir® eureday

38. Refuge area should not be‘less than

SN I5m? (B) 25 m?

(€ 35m? | (D) 45 m?
LG UGS GDnESULSD B)(hés G@Gﬁ'mwru_l 2|eT6?

(A) 1582 (B) 2515%
(©) 358 : (D) 45 152

39.  Asper NBC 2005 automatic sprinkler is not required for
A Below 15 meters residential building
(B) Storage Building
(C)  High Hazard industrial Building
(D) . Multiplex building
NBC 2005-6i ulg. gresfilwmdl Ggefliuirar CgenauliuLmg @L1b?-
A) 15801 (i Sip 26mer G uImUY Sl L b
(B) Calfluy durig
(C) e wrurw Qemherane

D)  ueeims sligL b

11 : 029/DM/19
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40. . What is the latent heat of vaporization of water?
(A) 1000 kj/kg B 2260 kilke
(C) 3260 kj/’kg | (D) 4260 kj/kg
samantilcy apefluimgelar 2 dr@penn CleutiLib eremen?

(A) 1000 kj’kg (B) 2260 kj/kg
(C) 3260 kj/kg (D) 4260 kj/kg

41. Which three of the following are elements of structure within a building?
(1) Columns |

(i)  Staircases

(iii) 'Sa.ndwich panels

(iv) Beams |

@A) @, ), @) - ) O, ), (v)
© O, @), Gv) D) @), (i), Gv)
SpseRTuhmieT cTeveu sy L sianoli9en LgSaer?

(1) srewen (Columns)

()  ugeer

(iii)  erenedd Guanden

(iv)  Sibev

A) @, Gi), (i) B @, (i), (v)
© @), (i), (iv) M) (i), (i), (iv)

42.  What type of Extinguisher to used metal fire? ‘
(A)  Foam (B) Water
| (C)  Special type DCI-;l (D) CO:
e Garss § usHng umému('b\g,guu.@m Swenanrliuneflen cuens erenen ?
A) ey ' (B) g
)  Special type DCP | D) CO

029/DM/19 12



43.  Inliquid CO2 Extinguisher the capacity of COs in the Cylinder is ?

44. -

45.

46.

(A) 3/4 ! s 23
® (C) 172 : (D) 1/4

CO: Sweenrtiunensafled ey COz Bl Siere, erenan?

(A) 3/4 (B) 2/3

© 12 % @O) 14

Fire doors are provided for the following purposes?
: \/ﬁ) Smoke control (B) Efasy evacuation
(C)  Flame control (D) Fire fighting
Sisgese arspans HpeuiuDEng? |
A Lews sLOLLESESD B) erehdd QaisliGup
©  BsslQUUEHED - O) fowanspd
How many ;ypes of flame retardant treatments for timber : a

m Two . (B) Three

(C) Four (D) Five
erflwng s smar 2 (HeuTEGLD eul(PED&ET eTE56m e ?

A Qrave ; '(B) e
(€ preng D) @b

Limestones are composed principally of

(A)  Sodium Carbonate (B) Magnesium Carbonate
(C) C-alc‘iufn Chloride TN Calcium Carbonate
GERTERTTLDL|SED ﬁg@a;e&m; ETEUDHDITE 2_(HeuTerngl?

(A). Gemgwib srruGean’” B) wsaffwib sriuGear

(€)  sredlub &Gerreny - D) sréoflub srruGan

13 029/DM/19
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47. Melting point of Aluminum is

(A)  500°C (B) 5500°C |
(©)  600°C 7 650°C ®
el wigdles o mblena ?
(A)  500°C (B) 5500°C
(C)  600°C (D) 6560°C

48, Fire Door is

(A)

oA
(©
(D)

A fire non resistive door approval for opening in fire separation
A fire resistive door approval for opening in fire separation
A combustible door

None of the above

L QUi ereLg)?

(A)
(B)
¢ ©
(D)

§ elugHanCGuirg S sHEaNs sseuLIL
5 Qﬁ‘tugﬁdjr@urrg.j Fenw $(HEGED sgeuabLY
erfludomig LU g6y

Cuhamdlu ergia)dlaeame

49,  Which of the construction has been classified in Type-1?

(A)
(B)
(€)

)

Construction is one in which all structural components have 1 hour fire resistance
v . ~

Construction is one in which all structural components have 2 hour fire resistance

Construction is one in which all structural components have 3 hour fire resistance

Construction is one in which all structural components have 4 hour fire resistance

Type-1 s1_iq b erem euensiLGEs L aIS?

(A)
(B)
()
(D)

029/DM/19

1 wenfl Cpyid § smbi@ b Smet Qanadr &g L 1b
2 wewfl Cryb § nsiEh dpen Ganer_ sl ig b -
3 mm‘@gmb & G SHpen GararL &g b

4 wanfll Cprd § sraiELd Fpen Geram &ligL b
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50.  Which one is a good heat insulator?

(A) Timber ™ Stone

(C) Glass (D) Metals
QauliLib sL§zTs CLmmer erg)?
(&) b B) a0
©)  sawanmg @) Booy

51.  How many types of suction wrenches is there in Fire Service?
@ 3 | s
© 7 ) 4

SuaeariiLg glenuile erggamearn euemawimen sé&aya flen@s 2 cTeng)?
(A 3 : B 2
gy . 7 . D) 4

52.  What type of metal is used to make “Collecting head”?
(A)  Silicon alloy “ (B) Castiron
A Aluminum alloy , (D) Gun metal
a;@wést'_qré Gamt gmnﬂﬁ ugHE LwaTLPSEILGD 2 Gu e erere? -
@A)  Aclssar s @B @by srs

©C)  si@bleflub e D) gLUTES 2 Georsid

53.  Which one of the following gases used in flame cutting equipment?

ﬁ Oxygen, Acetylene, Propane ' (B) Propane, COz, Hydrogen
(C)  Acetylene, Propane, CO2 (D) Oxygen, CO2, Hydrogen
%@éﬁ&@L@Uﬁ)@d} sLiT Qaul_ () eusTamsSed LweaURESsULEID eurussar eTEnaU?
A)  aysadsen oL aler, QriGuen @) yroGuér COs, apl yggen

(C) dLear, yruCuer, COz (D)  opsediger, COz2, anl ygen

15 : 029/DM/19
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54. Usual length of the fire boat lines .
(A)  600m - (B) 700m

© 500m ™) 200m ®
Curgeurs & ul_éﬂ@'ﬁ o e Sull e Hard?

(A)  600m (B) 700m

(C) 500m (D) 200 m

55.  Length of the Ceiling Hook

SO 25m (B) 2.6m

@ 20w - D) 3m
ey QamsAuien fanth ereiran?

(A 258 B) 2.6.8
©) 278 D) 38

L

56. Which takes water from source into pump and carries to fire spot from pump?

(A)  Suction Hoses (B) Delivery Hoses

(C)  Hose Reel Hose ) (A) and (B)

samaay B Haauddmps LbODEHL LUbGS HHs 5 augesnEh Qaranrh Qada uwar(es)?
Q) Birodigsd Gniisd , C(B) Rl i

(©) g6 fd gev ' (D) (A) ppid (B)

o1
-1

Which of the following is reason for hose damage?

(A)  Friction (B) Pressure

© Fungi D A), B and (©)
Bief® i Cagoenw sryab?

@)  epriey B oppsid

(O ysmyemd D) (@A), B) wppid (©)
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58.

59.

60.

Which of the following is manufacturing in circular loom?

(A)  Hose Reel hose ' (B) Suction hose
ﬁ)\ Delivery hose ‘ (D) Rope

Spaam_aipPo aul Lsside surissiuGag?

(A) e e gav B) B edeps Gpm

©) - Bired® @mmis D) s¥geer

Foam compounds of protein are

(A)  Protein materials + Certain acid

./@; Hydrolyzed protein materials + certain salts
(C)  Protein foam

- (D) Hydrolyzed protein materials + certain acid

qgg,;_‘r)ﬁéu- 2_GITEIT (516D HEIENAIGET?
(A)_ L7s Gurplser + da bl
(B) Gngml'_(fﬁfjrr@ﬂsful'_ L7std Quirpl s + &le 2 L jgeT
©  yrs piey

D) . sm__ﬁpl'_'(‘mrreﬁleiua‘_' Y Gumplaer + Fleo 2jdleid

What is alcohbl resistant foam?
(A) - Fluoro Chemical-R
B) Aquéous film Forming foam - FR

(C)  Aqueous film forming foam - R

&M  Aqueous film forming foam - AR

2LOFADTED GTHITLIL| HIGHTT CTErMTeD GTevI6n ?
@) SuGemCyr Qadlése-R

B) @i Nelib Lumibin Gumd-FR
©) @i 9elib Sumifin Gumb-R
D)  oidwe 9edlib Sumiblii Gumb-AR

17
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61. The Expansion of foam which not depend fror'n the following.

(A)  Branch pipe design (B) Type of foam concentrate
(C)  Operating pressure ./US} Surface Air .
eraupeuaraupBler piany el fleunsasSenan snrmes) erg)?
(A)  dlenar @mi cugeuaioLiy B). meny dedey cums
(C) Qusasden oipssib (D)  Cupugliy arhm
62.  What is the principle use of foam?

(A)  For extinguishing fires involving liquids
(B)  For extinguishing fires involving inflammable woods
(C)  For extinguishing fires involvin'gvlzrietal

A} For extinguishing fires involving inflammable liquids
wieng updu Qarerens LiwerUm(R) eremer? |
(A)  dlyeukiser #bwpsLLLL § omarés
(B)  wpiser sbopsILCL S é;;snmé:&
(C) 2 Caoraib sbwhsliu’ L § I&mmé&a

(D) eefifle Suupnésaiyuw Hreuriser sbwhsiL L 5 manés

63. When using FMB, the required level of water pressure?

) Thar (B) 10 bar

(C) 2.5 bar (D) 4 bar
- FMB uwerui@sgin Gurg Sflen i(psss58 6 Coemon?
(A) T unr (B) 10 umr
(C) 2.5 unm D) 4 un
. 64. When foam making branch should be used with an inline inductor?

(A) FMB 5x ) FMB 10x
© ~FMB2x ' (D) FMB 24x
Qarenaer Gam_dL_it L HEgIb Curg e mleny swrfléEb sihed Lweiu®ss i REDng?
(A) . FMB 5x (B) FMB 10x
(C)  FMB 2x - (D) FMB 24x
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65.

66.

67.

Which one of the following statement is correct?

(A)  Fluoro Chemical - has poor burn - back resistance -

‘j&‘ Fluoro Chemical - has high burn - back resistance

(C)  AFFF - has slow drainage rate
(D) FFFP - resistance fuel contamination is poor

ere(medeel HmieT mﬂmrws@ aTgl?

(A)  SUCemCrr Qallsd-@mphe erilfle - Wer erglienu Gamarrg

(B) oo;i;'_l@GF-FITGIjFI' Qadlésn-oids erildd - e erdlan Qamei_g|
(C) AFFF - gapbs aligsre eN8lsid 2 erarg

(D) FFFP - efQunamer wraun® adiiy Hpen gope

What is Foam Low expanéion ratio from

m 2:1 to 20:1 : (B) 2:2to 20:20
C)  1:2 to 20:20 (D) 2:3 to 20:30
wanyuler Gepps elflarss eldsib ereran?
(A) 2:1to20:1 (B) 2:2to0 20:20
(C)  1:2to020:20 (D) 2:3t020:30
What is regular frequency of Extinguisher inspection?

(A) 6 month once \_/@ Monthly once
(C) 2 month once (D) 4 month once

Swienammiumen gplie) Qe Geuarig s &T6 @en_Qauafl?

(A) 6ursb @ oD - (B) wmgib @ (pepm

(C)  2iomsb @@ (penD (D) 4 wrgb H WP |

19
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68. The expansion of foam measured by
A)\. Comparing the weigh of foam volume of the finished foam

(B)  Level of foam solution ' |
(C)  Level of foam quantity
(D)  Level of foam quality
Bl allfleurssid ergarn ppeih seflediuGdng?
A)  pyssiulL mey LHYID HienT 2jereiles srapL UdL ()

T T a—
©)  menruler ojera
D) mewy srgen serey

69. What is BIS (Buxam of Indian Standards)?

" (A)  BIS-2050 ) BIS-4571
(C)  BIS-2001 (D) BIS-2000
By iy geflufien BIS (Buxam of Indian Standards)
(A)  BIS-2050 (B) BIS-4571
(C)  BIS-2001 (D) BIS-2000

70. What is the minimum breaking load of 13.5 meters ladder?

A 1.3 Tonnes ' (B) 1.5 Tonnes
(C) 1.0 Tonnes (D) 2.0 Tonnes
13.5 B i ganflufien @Gﬁmﬁgﬁ!ul‘_& 2 @LLIL| GO0 e ? .

(A). 1.3 Len @B 1.5 Lar
(C) 1.0 vLen ' (D) 2.0 Len

71.  Total weight of roof ladder is

(A) 8Kg . (B) 12Kg
0 16Kg : (D) 20Kg

a0y eawtluSlerr GQLomgs eTenL '

(A) 8Kg B) 12Kg

(©) 16Kg | (D) 20Kg
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72: Hook Ladder length -

(A) 3.5 meter (B)
@C) 7.5 meter : o)

Qanad) ganflufer Berb :

(A) 85 B ' - (B

© 75800 | S o)

78, Turn table ladder can rotate
(A)  180° (B)

A 3600 (D)

Turn Table ganflulen sipms ereme?

(A) 180° . : (B).

(C) 360° (D)

74.  Turn Table Ladder should not be elevated above

) T5° (B)
© 35° D)
Turn Table gerflenws @siH@E CLosd 2 WTES (P LITE?
@) 75° > (B)
(C) 35° : (D)

75, BHP stands for

m Break horse power - (B)
(C) Band horse power (D)

- BHP erénisein 6 flourrdsstb?
(A)- Break horse power T B
. (C) - Band horse power (D)

76.  What is Length hose reel in special a.ppliances

(A) 50 meter B)
«*TC) 55 meter ' (D)
 Apuy e usyansSa o erar gev Feller Berd erérmen?
(A) 50 B _ (B)
(C) 558w (D)

21

4.5 meter

4.1 meter

4.5 B0 L
4.1 Bl

90°
45°

90°

-45°

90°
45°

90°

45°

Break Hose Power

‘None of the above

Break Hose Power
Gumeaiu eTgia|lleene

45 meter

75 meter -
45 S

75 B _

029/DM/19
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77. How much space from round to round in ladders?
.m 280 mm and 305 mm (B) 208 mm and 350 mm
(C) 200 mm and 250 mm (D) 150 mm and 350 mm
gyanflaafled @l;rsﬁz;r[a aul L Y 8(eHs@E 2-6Ter @anlQeuafl ereucueney?
(A) 280 mm and 305 mm (B) 208 mm and 350 mm
(C) 200 mm and 250 mm (D) 150 mm and 350 mm

78. Educational Building is

(A) Fire Zone 3 (B) Fire Zone 2
S Fire Zone 1 (D)  All the above

@6l &1’ g Lib eramLg) |

(4) & war b3 ' (B) & wer_an 2

(C) & weri el D)  omandgib

78. Parapet wall height shall

‘A) 1..0 meter (B) 1.5 meterl
(C)  1.75 meter (D) 2.0 meter

sl sl eThs a6 6@ QMmESs Couam®ib?
(A)  1.08 B) 1580w
(C) 17580 (D) 2.0 B

80.  BA set regulator assembly includes

(A)  High pressure hose : (B) Pressure reducing device
(C) By pass valve ' m All the above

epéasamel QrEGal LT H@abliel Qalhmp 2 drer &dlwig?

Q) 2w sipss G @) 2pssb G@LL smed
(C) ewuwumen G}I|rrs'uai_| (D) Cupeadu SIEDESHEILD
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP
FOR OFFICERS OF TAMIL NADU FIRE AND RESCUE
SERVICES - FIRST PAPER

(Without Books)

Maximum Time : 30 minutes Maximum Marks : 20

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
ailfleurar eflenLwafl&@b cuans efarmgsmer

Read the following instructions carefully before beginning to answer the questions.
cflennde@mée eflenLwellds Qam_rhigh (pen Spssar_ oiflamrsmer salaons Liig &6 LD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.

Qbs siflapsseler e urdllamfdar aurismssafld, GRECsHL Cemeuliulg. GLiedr
uneSlen e eumigensa@nid iLrki@EL0.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued. | Loyl

|

eflen_aenar @M [Herer as&arlrmﬂé;ma;fé;@ Siflsions m@ﬁuﬂ@btﬁls&r. ellenL_ggraflen @mule 2 crer
2P cranenflsemauiienear elasar wHnSE) QawiuLmg). '

2. In case of doubt, English version is the final. X
. | - itk !
aflamésefle s5Cpellminden oymifle ageflod Gar@assiiil (erar elemmssGar QuoiFwrang.

Write the an’swer; to any four fdllowing questions only.
areaGueib preng Cadrells@nse el wealésa,b. (4 x 5=20)

1; Write short note on the foﬂowirig :
(a) Conduction - | -
(b) Radiation. |
Am Uy euenys. |
(@) Qeulus sLgge |
(@)  Geudiussfi efss.
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Describe the classification of buildings based on occupancy and explain their sub divisions
for any two classification.

LTI g6l Sligliuen e sl gL nisellear cmasamer dafl eupile erapeuCuienid @)remHE
o LG fleysener @O Hs.

Write about types of breathing apparatus, parts of breathing apparatus.

& s smedsafllan auamsser HMID BT UTERIS®AT UMD eT(psis.

Write about drenchers, types of drenchers.

e Qreaaar HMILD BiFe uamssamer LD er(1sis.

What are all the special appliances available in Type A Emergency Tender?

Type A oeusr eariflufled 2 drer SpLiL] 2 USTERTRISET WITene?

Write Advantages and Disadvantages of using aluminum alloy in Building Construction.

sl s Hurasde sigiflelusdear uwaur@ser oppib Gonur@sd ubbl erpsis.
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